
35
00

6600

1025 1050 1050 1050 1050 1025

50505050505050

50
50

11
00

11
00

11
00

71

1075 1100 1100 1100 1100 1075

25 25 25 25 25 25 25

Window Frame with Brackets

55

Window Frame

1

01

  FASTENERS FOR INSTALLATION EXCLUDED (third party) FASTENERS FOR SYSTEM ASSEMBLY INCLUDED

CUSTOMER
DESCRIPTION
PROJECT NR

DATE
SCALE
ENGINEER

QTY

REV

RACK ARMS & PARTS
LOUVERS
PLASTIC PARTS

LOUVER TYPE DRAWING NUMBER SHEET SIZE

US PROJECTION

Lissenveld 65F
NL 4941 VL
Raamsdonksveer
The Netherlands
Tel        : +31162 435 652

Web    : www.sunshield-global.com

e-mail  : info@sunshield.nl

©This drawing is the
sole property of
Sunshield and shall
not be copied, 
duplicated, trans-
mitted or used in any
manner without
written consent of 
Sunshield

1:15
19-10-2021

JM2110030

2110030-01-000 1 A0:4

Nat. Ano
Nat. Ano
Light Gray

MATERIAL

88E STATE Approved
01

Ext

Accurate positioning of alu
drive shaft (groove) and inox
shaft in the operating arm

3,5x9,5
Lock screw

Groove

ATTENTION

A A

B B

C C

D D

E E

F F

G G

H H

12

12

11

11

10

10

9

9

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



Closing Direction

35
00

 R
A

34
45

 O
S

9
1

3
2

8
1

1
8

2
*400*

10
28

7
1

4
2

6
1

10
70

13
*28*

11
*28*

14
*28*

12
*28*

*
*

19
5

39
2,

5 
Pu

sh
 P

in

1090 Drive Shaft 2105 Drive Shaft 1065 Drive Shaft 2125 Drive Shaft

5
*4*

2

1

Louvers Excluded
Motor Excluded
ITEM NO. QTY. SW-File Name(File 

Name) DESCRIPTION Comment 2

1 8 07 035 AS 88E Standard Rack Arm, 35 mm, 
Pitch 70 (10) Assembled

L=3500; Pitch 70 
(10)

2 *400* 939 DIN 7981 Panhead screw 3,5 x 13

3 2 58 957 99 22 Exterior Motor kit for 7:1 IO/RTS 
(incl. Motorhood L=580)

L=580 
(Motorhood)

4 2 58 988
Stak/Stas Protecting Kit (incl. 

Tube, Plugs & Bracket) 
(lg=250mm)

5 *4* 939 DIN 7981 Panhead screw 3,5 x 
9,5

6 1 2110030-01-501 Drive Shaft 14/7 mm; Standard L=1090

7 1 2110030-01-502 Drive Shaft 14/7 mm; Standard L=2105

8 1 2110030-01-503 Drive Shaft 14/7 mm; Standard L=1065

9 1 2110030-01-504 Drive Shaft 14/7 mm; Standard L=2125

10 28 58 623 Omega H-55, 29x54x31x54x29 x 3 
mm, lg=20mm L=20

11 *28* 901 DIN 933 Hexagon Head Bolt 
M6x16

12 *28* 908 DIN 125-1A Plain Washer M6

13 *28* 910 DIN 934 Hexagon Nut M6

14 *28* 911 DIN 6798-A Lock washer M6
01

  FASTENERS FOR INSTALLATION EXCLUDED (third party) FASTENERS FOR SYSTEM ASSEMBLY INCLUDED

CUSTOMER
DESCRIPTION
PROJECT NR

DATE
SCALE
ENGINEER

QTY

REV

RACK ARMS & PARTS
LOUVERS
PLASTIC PARTS

LOUVER TYPE DRAWING NUMBER SHEET SIZE

US PROJECTION

Lissenveld 65F
NL 4941 VL
Raamsdonksveer
The Netherlands
Tel        : +31162 435 652

Web    : www.sunshield-global.com

e-mail  : info@sunshield.nl

©This drawing is the
sole property of
Sunshield and shall
not be copied, 
duplicated, trans-
mitted or used in any
manner without
written consent of 
Sunshield

1:10
19-10-2021

JM2110030

2110030-01-000 2 A0:4

Nat. Ano
Nat. Ano
Light Gray

MATERIAL

88E STATE Approved
01

Ext

Accurate positioning of alu
drive shaft (groove) and inox
shaft in the operating arm

3,5x9,5
Lock screw

Groove

ATTENTION

A A

B B

C C

D D

E E

F F

G G

H H

12

12

11

11

10

10

9

9

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



Closing Direction

35
00

 R
A

1075 1100 1054 92 1054 1100 1075

Bottom RA = Bottom Window Frame

35
15

 C
ov

er
ed

 b
y 

Lo
uv

er
s

143

55

185

1

01

A A

B B

C C

D D

E E

F F

G G

H H

12

12

11

11

10

10

9

9

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1

  FASTENERS FOR INSTALLATION EXCLUDED (third party) FASTENERS FOR SYSTEM ASSEMBLY INCLUDED

CUSTOMER
DESCRIPTION
PROJECT NR

DATE
SCALE
ENGINEER

QTY

REV

RACK ARMS & PARTS
LOUVERS
PLASTIC PARTS

LOUVER TYPE DRAWING NUMBER SHEET SIZE

US PROJECTION

Lissenveld 65F
NL 4941 VL
Raamsdonksveer
The Netherlands
Tel        : +31162 435 652

Web    : www.sunshield-global.com

e-mail  : info@sunshield.nl

©This drawing is the
sole property of
Sunshield and shall
not be copied, 
duplicated, trans-
mitted or used in any
manner without
written consent of 
Sunshield

1:10
19-10-2021

JM2110030

2110030-01-000 3 A0:4

Nat. Ano
Nat. Ano
Light Gray

MATERIAL

88E STATE Approved
01

Ext

Accurate positioning of alu
drive shaft (groove) and inox
shaft in the operating arm

3,5x9,5
Lock screw

Groove

ATTENTION



Closing Direction

3400 3400

1

Louvers Excluded
01

A A

B B

C C

D D

E E

F F

G G

H H

12

12

11

11

10

10

9

9

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1

  FASTENERS FOR INSTALLATION EXCLUDED (third party) FASTENERS FOR SYSTEM ASSEMBLY INCLUDED

CUSTOMER
DESCRIPTION
PROJECT NR

DATE
SCALE
ENGINEER

QTY

REV

RACK ARMS & PARTS
LOUVERS
PLASTIC PARTS

LOUVER TYPE DRAWING NUMBER SHEET SIZE

US PROJECTION

Lissenveld 65F
NL 4941 VL
Raamsdonksveer
The Netherlands
Tel        : +31162 435 652

Web    : www.sunshield-global.com

e-mail  : info@sunshield.nl

©This drawing is the
sole property of
Sunshield and shall
not be copied, 
duplicated, trans-
mitted or used in any
manner without
written consent of 
Sunshield

1:10
19-10-2021

JM2110030

2110030-01-000 4 A0:4

Nat. Ano
Nat. Ano
Light Gray

MATERIAL

88E STATE Approved
01

Ext

Accurate positioning of alu
drive shaft (groove) and inox
shaft in the operating arm

3,5x9,5
Lock screw

Groove

ATTENTION


	Window Frame
	Drawing View1
	Drawing View3
	Drawing View11
	Drawing View20

	Rack Arms
	Drawing View6
	Drawing View7
	Drawing View8
	Drawing View9
	Drawing View10

	System
	Drawing View12
	Drawing View13
	Drawing View14
	Drawing View15
	Drawing View16

	Louvers
	Drawing View17
	Drawing View18
	Drawing View19


